
Practice 9.1 & 9.2

Name(s)___________________________________

Solve the compound inequality. Graph the solution set.

1)      x -2 and x -3

Solution 

2) -
1
3

4x - 1
9

<
1
3

Solution 

3)      x < 3 or x < 8

Solution 

4) 6x - 4 < 2x or -3x -9

Solution  

33



Solve the absolute value equation.

5)      |x + 8| = 2

6)      |x| - 3 = 6

7) 4x + 12
3

= 4

8)      |3x - 2| = |x - 7|

9)      |6x + 7| + 5 = 2

34



Answer Key
Testname: FRCC_9.1_9.2_WKS

1) [-3, -2]

2) -
1
2

, 1

3) (- , 8)

4) (- , 1)  [3, )

5) -10, -6
6) -9, 9
7) -6, 0

8) -
5
2

, 9
4

9)
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